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IR D VERI &V it B L 722 S, BIEICER L, LA FOER]Z 95 Z &, Explain the principle
of diminishing returns by using the following keywords.
<GEAI>RFATAN, [RFUNEE  <keywords> marginal input, marginal return

JEZFEREE TV THIPH DR BE 2A T 72 DRPLZ T L 72 Sy, Explain the situation(s) when the

“economy of scope” is effective at farm business management.

=TT AT Iy RIZONT, 4 50 Pl ZHWTHM L7 Z VY, Explain the marketing mix by

utilizing the “Four Ps” concept.

A AR D FEMOKEERG 73 2021 FIZRE LT [ E D ORE AT LEkIE | OFE 23] L 72 X4, Explain
the outline of “The Strategy for Sustainable Food Systems MeaDRI (Measures for Achievement of

Decarbonization and Resilience with Innovation)”, launched by JMAFF in 2021.
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1. BEICBT DML & MEDBE IOV TR X,

2. BEENIBT MO EENADTOD ) —F— y TORENZ OV TR X,

3. FIREERE OMADRE IOV TiaE XL,
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& : 3 DOJEE A~C THEHIZ L DOWVEE EAFE LR, Mokoiikole, 20X, kD
W& %2 X, (The results of a survey of average seasonal sales at the three shops Ato C are shown
in the graph. Answer the following questions.)

Result of the two-way ANOVA
1,187 12%

Sum of  degree of Mean

variable F value p value
. square  freedom square
&
2 Seasons 711,186 3 237,062 2 0.0009952
. 708 702
L 667 641 610
@ Shops 1,477,584 1 1,477,584 56.2 0.0000013
o 481 474
©
2 277 205 Interaction 133,285 3 44,428 1.7 0.2092758
217
Errors 420,749 @ 26,297
Spring Summer Automn Winter Total 2,742,806 23

mShop A mShopB =Shop C

1) 77 70hbbind 2L a2E28 L, (Discuss what the graph tells.)

2) 77 7ORT BB E TH D, MO0, @DEAE% % K. (Tothe right of the graph
is a two-way ANOVA table. Answer the numbers that apply to O and @ in the table.)
@® @

3) AT OREREZ F L L, (Summarize the results of the two-way ANOVA.)
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. M. F=Z2—D$RET L[ 774774 —R]ET M2 THIA L 7 X\, Explain Michael Porter’s

“Five Forces Model”.

2. REEERE OHIBHER O BRI & AR IO W T L 7% £\, Explain the economies and diseconomies

of scale at farm business.

3. HANABERMESROZ (2B RE Lz, BRLERELOY X7 ICOWTHHAL I W, 72, %
DY R 7 BREREICE 2 55800 D 0\ Chi U 7r & W, Explain the food security risks due to changes in

the global food situation. Additionally describe the impact of the risks on farm business.







REEBE N SR R R

2024 - 2 H]
28 H 4 = BOH K % B % = K 4
SRR P EEET /) EUR R B
(BB PR ) T SRR
1. B Z0ORAER LT 2L 50BN Tt &,

2. Biha AHBOERICONWT, (1) &R, (2) VA, Oflahbiat k< (1), (2) b
JCHEFE D),

3. B ADOHIEIZSWT, BARRZREG R Z — oMY B, £ORIZHON Tt &




PN SITYNE S TR PR S

2024 % 2 Hi
i H 4 % BB I % B OF 5 K 4
e TS FE7 7 ) Bk 2% B | Exam. ID: Name:
(Management Informatics Laboratory) T@: jtﬁﬁ,ﬂ;q %%%%
Question: Table 1 shows the Table 1 Table 3
results of measuring the Num. A B C test o-value
sugar content of samples of 1 76 136 142 Ao B 0.0001
three strawberry varieties ) 93 142 152 A-C 0.0340
A, B and C. Based on this 3 102 151 112 B-C 0.6815
table, answer the following A 85 137 102
questions. 5 15.2 138
1. Table 2 is a one-way mean 89 1436 12.92
ANOVA table. Fill in the
Table 2
blanks from @O to & in
sum of degrees of
the table. The answers variables mean SS F-value  p-value
3 8 square (SS) freedom
for to should be
varieties 69.4 (@) ©) ® 0.000565
shown to the second
errors 24.0 11 ®
decimal place.
P total 93.3 @)
2. What can be inferred

from the p-value in Table 2?

3. Table 3 shows that the p-values for all pairwise statistic test using a method so called

Bonfferoni method. Discuss what can be inferred from Table 3 and Table 1.

4. Of the benefits of analyzing quality differences from one-way ANOVA for farmers, what do you

think is the most important from the perspective of agricultural management?

Answer 1:

@ @

®

@

®

Answer 2:

Answer 3: (If the space is not enough, you can also answer on the back.)

Answer 4: (If the space is not enough, you can also answer on the back.)
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